TTpd&Eeis ATTooTOAwV 5:36-42
AGE Ch. 35

In Jerusalem, the Apostles have been arrested for preaching in Jesus’ name. At the trial, a
Pharisee lawyer sounds a note of caution about executing them, and gives examples of
similar cases in the past:

36 TIPS Yap ToUTwY TGV NPV avéoTn Oeudas, Aéywv elvai Tva eauTtdv,
TpooekAiON AvBpdov Ap1BuOS cos TeTpakoaoiwv: 85 dvnpédn, kai TavTes oot
¢meiBovto auTd dieAUbnoav kai ¢yévovTo eis oUdév. 37 HeTd TOUTOV AVEOTN
lou8as 6 NaAthaios év Tals fuépaits Tiis AToypafis kai améoTnoev Aadv dmiow
aUTOU- KAKETVOS ATTOAETO, Kai TavTes Sool émeifovto auTd SieckopTiobnoav.
38 kal & viv Aéyc Uuiv, &TdoTnTE ATO TAV AvBPdTWwY ToUTwY Kal &@eTe
auToUs: 8T1 ¢av 1) €€ avBpcomeov 1) Poulr) aldtn 1) 16 €pyov TouTo,
kaTaAubrjoeTal- 39 ei 8¢ €k BeolU €oTiv, oU Buvrjoecbe kaTaAUoal aUToUs—UrTTOTE
Kai Beopdixol eupedijTe. emeiobnoav 8¢ auTtd, 40 kal TpookaAeoduevol Tous
amooTtdAous SeipavTes Taprjyyethav ur Aaleiv i 16 dvduaTt Tou Inoou kai
améAuoav. 41 ol pgv oUv ETOoPeYovTo XaipovTES ATO TTPOOTIOU ToU ouvedpiou
OTL katnElobnoav Umep ToU OvduaTos aTIHaoBival: 42 TAOAV TE THEPAV EV T
iepd kal kaT oikov ouk émavovTto id&okovTes kai eUayyeAilduevol Tov XploTodv,

Incoiv.



avnpédn < dvaipéw Kill

aTmoypagn —fis 1) census

apioTnu take away, draw away
améotnte (imperative) keep away from
ap1Buds —ou 6 number

aTipdlw dishonor, disgrace, devalue
&oete (imperative) < aoinu

deipas —aoca —av after beating
B18&okwv —ovoa —ov teaching
SiaAUw scatter

Biaokopileo disperse

gav ~ el

¢meiobnoav obeyed (+ dat.; intransitive use

of passive form)
evayyeAilduevos —n —ov preaching
eUpebriTe (passive imperative) < eUpiokco

7 ~ éoTl

Beopdxos —ou 6 opponent of God
KAKETVOS = Kal EKETVOS

kataAvw* stop

kaTta&idw count worthy

Aéywv —ovoa —ov saying

urjToTe never

vuv NnOwW

6mioco behind (+ gen.)

8cos —1 —ov all who
TapayyéAAw order
TpookaAecduevos — —ov after calling for
TpookAivew join

ouvédpilov —ou Té council
TeTpakooiol —a1 —a four hundred
Xaipwv —ouca —ov rejoicing

¢s w/ numbers = “about”

*kataAubrioeTal = kaTta + Au + 6n + o + etai = 3rd sg future indicative passive



